



BID TI		_	ER PARK SPORT FIELD REHABILITATION				BID NO: 2019-003		
BID DA	ATE:	Decemb	per 12, 2018				DEPARTMENT: C	APITAL IMPROVEMENT	
				ACCENT LA		BLACK STALLION CONTRACTORS, INC		HELLAS CONSTRUCTION, INC.	
				EL PASO, TX		EL PASO, TX		AUSTIN, TX	
				BIDDER 1 OF 5		BIDDER	2 OF 5	BIDDER	3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
			Base Bid I - Unit Price Sche	dule (Two Bas	seball Fields a	nd Two Socce	r Fields):		
1.	1	EA	EROSION CONTROL AND SWPPP IMPLEMENTATION, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$7,935.00	\$7,935.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00
2.	6.5	AC	SITE CLEARING, PER PLANS AND SPECIFICATIONS.	\$2,800.00	\$18,200.00	\$4,200.00	\$27,300.00	\$12,500.00	\$81,250.00
3.	1	EA	EXISTING BACKSTOP, LINE AND OUTFIELD FENCE AND POST REMOVAL, INCLUDING CONCRETE STEM WALL, PER PLANS AND SPECIFICATIONS.	\$8,696.00	\$8,696.00	\$24,000.00	\$24,000.00	\$60,000.00	\$60,000.00
4.	94	SY	ASPHALT PAVING REMOVAL, PER PLANS AND SPECIFICATIONS.	\$16.50	\$1,551.00	\$18.00	\$1,692.00	\$40.00	\$3,760.00
5.	60	SY	CONCRETE WALK PAVING REMOVAL, PER PLANS AND SPECIFICATIONS.	\$14.50	\$870.00	\$18.00	\$1,080.00	\$40.00	\$2,400.00
6.	1.00	EA	CONCRETE STEM WALL REMOVAL AT KARGE BASEBALL FIELD, PER PLANS AND SPECIFICATIONS.	\$1,880.00	\$1,880.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00





BID TI			ER PARK SPORT FIELD REHABILITATION				BID NO: 2019-003		
BID DA	TE:	Decemb	per 12, 2018					APITAL IMPROVEMENT	
				ACCENT LANDSCAPE CONTRACTORS, INC.		BLACK STALLION CONTRACTORS, INC		HELLAS CONSTRUCTION, INC.	
				EL PASO, TX		EL PA	SO, TX	AUST	IN, TX
				BIDDER	1 OF 5	BIDDER	2 OF 5	BIDDER	3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
			BASE E	BID I - UNIT PR	ICE SCHEDUL	.E:			
7.	4,175	СҮ	SITE FILL AND LASER GRADING, COMPACTED VOLUME IN PLACE TO ELEVATIONS SHOWN, PER PLANS AND SPECIFICATIONS.	\$18.15	\$75,776.25	\$18.00	\$75,150.00	\$45.00	\$187,875.00
8.	2,040	LF	NEW 6-FOOT HIGH CHAIN LINK LINE & OUTFIELD FENCE AND GATES FOR BASEBALL FIELDS, PER PLANS AND SPECIFICATIONS.	\$44.50	\$90,780.00	\$48.00	\$97,920.00	\$55.00	\$112,200.00
9.	200	LF	NEW 10-FOOT HIGH CHAIN LINK LINE AND DUGOUT FENCE FOR BASEBALL FIELDS, PER PLANS AND SPECIFICATIONS.	\$73.97	\$14,794.00	\$116.40	\$23,280.00	\$75.00	\$15,000.00
10.	1	EA	NEW 20-FOOT HIGH CHAIN LINK BACKSTOP FENCE INCLUDING BACKSTOP POSTS, FRAMING AND FOOTINGS FOR LARGE BASEBALL FIELD, PER PLANS AND SPECIFICATIONS.	\$69,736.00	\$69,736.00	\$64,800.00	\$64,800.00	\$75,000.00	\$75,000.00
11.	1	EA	NEW 20-FOOT HIGH CHAIN LINK BACKSTOP FENCE FABRIC INSTALLED ON EXISTING BACKSTOP FRAME FOR SMALL BASEBALL FIELD, PER PLANS AND SPECIFICATIONS.	\$29,375.00	\$29,375.00	\$64,800.00	\$64,800.00	\$20,000.00	\$20,000.00
12.	1,770	LF	NEW 6-FOOT HIGH CHAIN LINK FENCE AND GATES FOR BASE BID SOCCER FIELDS, PER PLANS AND SPECIFICATIONS.	\$44.73	\$79,172.10	\$48.00	\$84,960.00	\$55.00	\$97,350.00
13.	1,500	SF	NEW CONCRETE WALK PAVING (4-INCH THICK, BASE/SUBGRADE PREP), PER PLANS AND SPECIFICATIONS, COMPLETE ON PLACE.	\$5.00	\$7,500.00	\$42.00	\$63,000.00	\$15.00	\$22,500.00





BID TIT			ER PARK SPORT FIELD REHABILITATION per 12, 2018			BID NO: 2019-003 DEPARTMENT: CAPITAL IMPROVEMENT			
				ACCENT LANDSCAPE CONTRACTORS, INC.		BLACK STALLION CONTRACTORS, INC		HELLAS CONSTRUCTION, INC.	
				EL PASO, TX BIDDER 1 OF 5			SO, TX 2 OF 5		IN, TX 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
		•	BASE E	BID I - UNIT PR	ICE SCHEDUL	E:			
14.	1	EA	Irrigation System Improvements, Including Removal and Re-installation of Existing Irrigation Heads, Installation of New Meter and Backflow Preventer, and All Piping, Valves, Wires, Controller, Flow Meter and Connections per plans and specifications, complete on place.	\$59,735.00	\$59,735.00	\$48,000.00	\$48,000.00	\$147,659.05	\$147,659.05
15.	6.5	AC	2-inches of Sand Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$7,210.65	\$46,869.23	\$14,400.00	\$93,600.00	\$13,500.00	\$87,750.00
16.	6.5	AC	2-inches of Organic Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$12,207.50	\$79,348.75	\$12,000.00	\$78,000.00	\$13,500.00	\$87,750.00
17.	6.5	AC	New Hybrid Bermuda Hydromulch, per plans and specifications, complete in place.	\$4,793.00	\$31,154.50	\$25,200.00	\$163,800.00	\$51,250.00	\$333,125.00
		E	BASE BID I (Items 1 through 17)	\$623,372.83 CONTRACTOR'S PRICE: \$623,372.80		\$935,382.00		\$1,351,619.05	
		(NO	MOBILIZATION OT TO EXCEED 5% OF BASE BID)	\$31,168.64		\$44,898.34		\$67,580.95	
	SUM T	OTAL B	ASE BID I (BASE BID I AND MOBILIZATION)	\$654,5 CONTRACTOR'S P		\$980.280.34		\$1,419	,200.00





	OPTION 1 (ITEMS 1 THROUGH 8)			\$100,8 CONTRACTOR'S P		\$199,272.00		\$308,300.00			
8.	1.77	AC	New Hybrid Bermuda Hydromulch, per plans and specifications, complete in place.	\$4,793.00	\$8,483.61	\$25,200.00	\$44,604.00	\$51,250.00	\$90,712.50		
7.	1.77	AC	2-inches of Organic Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$12,207.50	\$21,607.28	\$12,000.00	\$21,240.00	\$13,500.00	\$23,895.00		
6.	1.77	AC	2-inches of Sand Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$7,210.65	\$12,762.85	\$14,400.00	\$25,488.00	\$13,500.00	\$23,895.00		
5.	1	EA	Irrigation System Improvements, Including Removal and Re-installation of Existing Irrigation Heads, per plans and specifications, complete on place.	\$3,200.00	\$3,200.00	\$14,400.00	\$14,400.00	\$21,247.50	\$21,247.50		
4.	1,060	LF	New 6-Foot High Chain Link Fence and Gates for Option #1 Soccer Field, per plans and specifications.	\$21.50	\$22,790.00	\$48.00	\$50,880.00	\$55.00	\$58,300.00		
3.	1,450	CY	Site Fill and Laser Grading, Compacted Volume In Place to Elevations Shown, per plans and specifications.	\$18.25	\$26,462.50	\$18.00	\$26,100.00	\$45.00	\$65,250.00		
2.	1.80	AC	Site Clearing, per plans and specifications.	\$2,800.00	\$5,040.00	\$4,200.00	\$7,560.00	\$12,500.00	\$22,500.00		
1.	1	EA	Erosion Control and SWPPP Implementation, per plans and specifications, complete in place.	\$500.00	\$500.00	\$9,000.00	\$9,000.00	\$2,500.00	\$2,500.00		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND		
			Additive A	Alternate I (Eas	stern Soccer F	ield):					
				EL PAS BIDDER		EL PAS BIDDER	SO, TX 2 OF 5		IN, TX 2 3 OF 5		
				ACCENT LANDSCAPE CONTRACTORS, INC.		BLACK STALLION CONTRACTORS, INC		HELLAS CONSTRUCTION, INC.			
BID DA	TE:	Decemb	per 12, 2018	Г				APITAL IMPROVEMENT			
BID TIT			ER PARK SPORT FIELD REHABILITATION				BID NO: 2019-003				





BID TIT			ER PARK SPORT FIELD REHABILITATION per 12, 2018			BID NO: 2019-003 DEPARTMENT: CAPITAL IMPROVEMENT				
BID DA	IE.	Decemi	REI 12, 2010	ACCENT LANDSCAPE CONTRACTORS, INC. EL PASO, TX BIDDER 1 OF 5		BLACK STALLION CONTRACTORS, INC EL PASO, TX BIDDER 2 OF 5		HELLAS CONSTRUCTION, INC. AUSTIN, TX BIDDER 3 OF 5		
			Additive A	Iternate II (We	stern Soccer	Field):				
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	
1.	1	EA	EROSION CONTROL AND SWPPP IMPLEMENTATION, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$500.00	\$500.00	\$9,000.00	\$9,000.00	\$2,500.00	\$2,500.00	
2.	1.80	AC	SITE CLEARING, PER PLANS AND SPECIFICATIONS.	\$2,800.00	\$5,040.00	\$4,200.00	\$7,560.00	\$12,500.00	\$22,500.00	
3.	1,450	CY	SITE FILL AND LASER GRADING, COMPACTED VOLUME IN PLACE TO ELEVATIONS SHOWN, PER PLANS AND SPECIFICATIONS.	\$18.25	\$26,462.50	\$18.00	\$26,100.00	\$45.00	\$65,250.00	
4.	1,060	LF	NEW 6-FOOT HIGH CHAIN LINK FENCE AND GATES FOR OPTION #1 SOCCER FIELD, PER PLANS AND SPECIFICATIONS.	\$21.50	\$22,790.00	\$48.00	\$50,880.00	\$55.00	\$58,300.00	
5.	1	EA	IRRIGATION SYSTEM IMPROVEMENTS, INCLUDING REMOVAL AND RE-INSTALLATION OF EXISTING IRRIGATION HEADS, PER PLANS AND SPECIFICATIONS, COMPLETE ON PLACE.	\$3,200.00	\$3,200.00	\$14,400.00	\$14,400.00	\$21,247.50	\$21,247.50	
6.	1.77	AC	2-INCHES OF SAND MATERIAL, TILLED TO 6-INCH DEPTH, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$7,210.65	\$12,762.85	\$14,400.00	\$25,488.00	\$13,500.00	\$23,895.00	
7.	1.77	AC	2-INCHES OF ORGANIC MATERIAL, TILLED TO 6- INCH DEPTH, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$12,207.50	\$21,607.28	\$12,000.00	\$21,240.00	\$13,500.00	\$23,895.00	
8.	1.77	AC	NEW HYBRID BERMUDA HYDROMULCH, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$4,793.00	\$8,483.61	\$25,200.00	\$44,604.00	\$51,250.00	\$90,712.50	
		OI	PTION 2 (ITEMS 1 THROUGH 8)	\$100,846.24 CONTRACTOR'S PRICE: \$100,846.20		\$199,272.00		\$308,300.00		
-	MENDMENT ACKNOWLEDGED:				0 ES		ES		YES YES	



BID TI		_	ER PARK SPORT FIELD REHABILITATION per 12, 2018				BID NO: 2019-003 DEPARTMENT: C	APITAL IMPROVE	ard Winner
BID DA	11L.	Decemb	GI 12, 2010	PRIDE GENERAL LL	.C.	TEXA	STRUCTION OF S, INC.	AFITAL IMPROVE	WENT
					SO, TX R 4 OF 5		SO, TX R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
	_	ı	Base Bid I - Unit Price Sche	dule (Two Bas	seball Fields a	nd Two Socce	r Fields):		
1.	1	EA	EROSION CONTROL AND SWPPP IMPLEMENTATION, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$6,150.00	\$6,150.00	, ,	CONTRACTOR'S		
			·				PRICE: \$15,378		
2.	6.5	AC	SITE CLEARING, PER PLANS AND SPECIFICATIONS.	\$7,995.00	\$51,967.50	\$5,782.297	\$37,584.93 CONTRACTOR'S PRICE: \$37,585		
3.	1	EA	EXISTING BACKSTOP, LINE AND OUTFIELD FENCE AND POST REMOVAL, INCLUDING CONCRETE STEM WALL, PER PLANS AND SPECIFICATIONS.	\$5,904.00	\$5,904.00		\$18,454.14 CONTRACTOR'S PRICE: 18,454		
4.	94	SY	ASPHALT PAVING REMOVAL, PER PLANS AND SPECIFICATIONS.	\$43.05	\$4,046.70	\$26.297	\$2,471.92 CONTRACTOR'S PRICE: \$2,472		
5.	60	SY	CONCRETE WALK PAVING REMOVAL, PER PLANS AND SPECIFICATIONS.	\$44.28	\$2,656.80		\$2,028.66 CONTRACTOR'S PRICE: \$2,029		
6.	1.00	EA	CONCRETE STEM WALL REMOVAL AT KARGE BASEBALL FIELD, PER PLANS AND SPECIFICATIONS.	\$8,610.00	\$8,610.00	\$4,305.970	\$4,305.97 CONTRACTOR'S PRICE: \$4,306		



BID TI			ER PARK SPORT FIELD REHABILITATION per 12, 2018				BID NO: 2019-003 DEPARTMENT: C	2018 Award Winner CAPITAL IMPROVEMENT	
				PRIDE GENERAL LL			STRUCTION OF S, INC.		
				EL PA	SO, TX	EL PA	SO, TX		
	•			BIDDER	R 4 OF 5	BIDDEF	R 5 OF 5	BIDD	ER OF
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
			BASE E	BID I - UNIT PR	ICE SCHEDUL	E:			
			SITE FILL AND LASER GRADING, COMPACTED				\$113,000.55		
7.	4,175	CY	VOLUME IN PLACE TO ELEVATIONS SHOWN, PER PLANS AND SPECIFICATIONS.	\$33.21	\$138,651.75	\$27.066	CONTRACTOR'S PRICE: \$ 113,001		
			NEW 6-FOOT HIGH CHAIN LINK LINE & OUTFIELD				\$75,292.32		
8.	2,040	LF	FENCE AND GATES FOR BASEBALL FIELDS, PER PLANS AND SPECIFICATIONS.	\$30.75	\$62,730.00	\$36.908	CONTRACTOR'S PRICE: \$75,293		
			NEW 10-FOOT HIGH CHAIN LINK LINE AND				\$24,605.60		
9.	200	LF	DUGOUT FENCE FOR BASEBALL FIELDS, PER PLANS AND SPECIFICATIONS.	\$43.05	\$8,610.00	\$123.028	CONTRACTOR'S PRICE: \$24,606		
10.	1	EA	NEW 20-FOOT HIGH CHAIN LINK BACKSTOP FENCE INCLUDING BACKSTOP POSTS, FRAMING	\$27,736.50	\$27,736.50	\$86,119.320	\$86,119.32		
10.	'	LA	AND FOOTINGS FOR LARGE BASEBALL FIELD, PER PLANS AND SPECIFICATIONS.	φ21,130.30	\$27,730.30	\$60,119.320	CONTRACTOR'S PRICE: \$86,119		
	_		NEW 20-FOOT HIGH CHAIN LINK BACKSTOP FENCE FABRIC INSTALLED ON EXISTING	.		•	\$31,372.04		
11.	1	EA	BACKSTOP FRAME FOR SMALL BASEBALL FIELD, PER PLANS AND SPECIFICATIONS.	\$14,760.00	\$14,760.00	\$31,372.040	CONTRACTOR'S PRICE: \$31,372		
10	1,770	LF	NEW 6-FOOT HIGH CHAIN LINK FENCE AND GATES FOR BASE BID SOCCER FIELDS, PER	\$20.75	ΦΕ 4 407 F0	#00.000	\$65,327.16		
12.	1,770	LF	PLANS AND SPECIFICATIONS.	\$30.75	\$54,427.50	\$36.908	CONTRACTOR'S PRICE: \$65,328		
			NEW CONCRETE WALK PAVING (4-INCH THICK,		<u> </u>		\$10,150.50		
13.	1,500	SF	BASE/SUBGRADE PREP), PER PLANS AND SPECIFICATIONS, COMPLETE ON PLACE.	\$6.15	\$9,225.00	\$6.767	CONTRACTOR'S PRICE: \$10,150		



BID TIT BID DA		_	ER PARK SPORT FIELD REHABILITATION per 12, 2018				BID NO: 2019-(DEPARTMENT: C	2018 Award V	0.0
BID DA	IL.	Decemb	331 12, 2010	PRIDE GENERAL LL EL PAS BIDDER	.C. SO, TX	TEXA:	STRUCTION OF		ER OF
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
			BASE E	BID I - UNIT PR	ICE SCHEDUL	.E:			
14.	1	EA	Irrigation System Improvements, Including Removal and Re-installation of Existing Irrigation Heads, Installation of New Meter and Backflow Preventer, and All Piping, Valves, Wires, Controller, Flow Meter and Connections per plans and specifications, complete on place.	\$63,960.00	\$63,960.00	\$75,661.970	\$75,661.97 CONTRACTOR'S PRICE: \$75,662		
15.	6.5	AC	2-inches of Sand Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$13,530.00	\$87,945.00	\$9,842.208	\$63,974.35 CONTRACTOR'S PRICE: \$63,974		
16.	6.5	AC	2-inches of Organic Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$12,300.00	\$79,950.00	\$10,457.346	\$67,972.75 CONTRACTOR'S PRICE: \$67,973		
17.	6.5	AC	New Hybrid Bermuda Hydromulch, per plans and specifications, complete in place.	\$46,613.31	\$302,986.52	\$19,684.415	\$127,948.70 CONTRACTOR'S PRICE: \$127,949		
		В	BASE BID I (Items 1 through 17)	\$930,3	317.27	,	649.33 PRICE: \$821,650		
		(NO	MOBILIZATION T TO EXCEED 5% OF BASE BID)	\$46,5	15.86	\$10,0	00.00		
	SUM T		ASE BID I (BASE BID I AND MOBILIZATION)	\$976,8	333.13		649.33 PRICE: \$831,650		



BID TIT		-	ER PARK SPORT FIELD REHABILITATION per 12, 2018				BID NO: 2019-003 DEPARTMENT: C		and the same
				PRIDE GENERAL LL	•	SPARTAN CONSTRUCTION OF TEXAS, INC.			
				EL PASO, TX		EL PASO, TX			
				BIDDER		8 5 OF 5	BIDDI	R OF	
			Additive A	Alternate I (Eas	stern Soccer F	ield):		l	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
1.	1	EA	Erosion Control and SWPPP Implementation, per plans and specifications, complete in place.	\$1,230.00	\$1,230.00	\$1,845.410	\$1,845.41 CONTRACTOR'S PRICE: \$1,845		
2.	1.80	AC	Site Clearing, per plans and specifications.	\$1,845.00	\$3,321.00	\$3,075.689	\$5,536.24 CONTRACTOR'S PRICE: \$5,536		
3.	1,450	CY	Site Fill and Laser Grading, Compacted Volume In Place to Elevations Shown, per plans and specifications.	\$33.21	\$48,154.50	\$27.066	\$39,245.70 CONTRACTOR'S PRICE: \$39,246		
4.	1,060	LF	New 6-Foot High Chain Link Fence and Gates for Option #1 Soccer Field, per plans and specifications.	\$30.75	\$32,595.00	\$34.448	\$36,514.88 CONTRACTOR'S PRICE: \$36,515		
5.	1	EA	Irrigation System Improvements, Including Removal and Re-installation of Existing Irrigation Heads, per plans and specifications, complete on place.		\$30,750.00	\$9,842.210	\$9,842.21 CONTRACTOR'S PRICE: \$9,842		
6.	1.77	AC	2-inches of Sand Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$13,530.00	\$23,948.10	\$11,072.486	\$19,598.30 CONTRACTOR'S PRICE: \$19,598		
7.	1.77	AC	2-inches of Organic Material, Tilled to 6-Inch Depth, per plans and specifications, complete in place.	\$12,300.00	\$21,771.00	· ·	\$20,687.09 CONTRACTOR'S PRICE: \$20,687		
8.	1.77	AC	New Hybrid Bermuda Hydromulch, per plans and specifications, complete in place.	\$46,604.70	\$82,490.32	\$19,684.418	\$34,841.42 CONTRACTOR'S PRICE: \$34,841		
		O	PTION 1 (ITEMS 1 THROUGH 8)	\$244,2	259.92	\$168,1			



BID TIT		SHAWV	ER PARK SPORT FIELD REHABILITATION				BID NO: 2019-003	2018 Award Winner	
BID DA	TE:	Decemb	per 12, 2018					APITAL IMPROVEMENT	
				PRIDE GENERAL CONTRACTORS, LLC. EL PASO, TX BIDDER 4 OF 5		SPARTAN CONSTRUCTION OF TEXAS, INC. EL PASO, TX BIDDER 5 OF 5		BIDDER OF	
			Additive A	Iternate II (We					0.
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND
1.	1	EA	EROSION CONTROL AND SWPPP IMPLEMENTATION, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$1,230.00	\$1,230.00	\$1,845.410	\$1,845.41 CONTRACTOR'S PRICE: \$1,845		
2.	1.80	AC	SITE CLEARING, PER PLANS AND SPECIFICATIONS.	\$1,845.00	\$3,321.00	\$3,075.689	\$5,536.24 CONTRACTOR'S PRICE: \$5,536		
3.	1,450	CY	SITE FILL AND LASER GRADING, COMPACTED VOLUME IN PLACE TO ELEVATIONS SHOWN, PER PLANS AND SPECIFICATIONS.	\$33.21	\$48,154.50	\$27.066	\$39,245.70 CONTRACTOR'S PRICE: \$39,246		
4.	1,060	LF	NEW 6-FOOT HIGH CHAIN LINK FENCE AND GATES FOR OPTION #1 SOCCER FIELD, PER PLANS AND SPECIFICATIONS.	\$30.75	\$32,595.00	\$34.448	\$36,514.88 CONTRACTOR'S PRICE: \$36,515		
5.	1	EA	IRRIGATION SYSTEM IMPROVEMENTS, INCLUDING REMOVAL AND RE-INSTALLATION OF EXISTING IRRIGATION HEADS, PER PLANS AND SPECIFICATIONS, COMPLETE ON PLACE.	\$30,750.00	\$30,750.00	\$9,842.210	\$9,842.21 CONTRACTOR'S PRICE: \$9,842		
6.	1.77	AC	2-INCHES OF SAND MATERIAL, TILLED TO 6-INCH DEPTH, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$13,530.00	\$23,948.10	\$11,072.486	\$19,598.30 CONTRACTOR'S PRICE: \$19,598		
7.	1.77	AC	2-INCHES OF ORGANIC MATERIAL, TILLED TO 6-INCH DEPTH, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$12,300.00	\$21,771.00	\$11,687.621	\$20,687.09 CONTRACTOR'S PRICE: \$20,687		
8.	1.77	AC	NEW HYBRID BERMUDA HYDROMULCH, PER PLANS AND SPECIFICATIONS, COMPLETE IN PLACE.	\$46,604.70	\$82,490.32	\$19,684.418	\$34,841.42 CONTRACTOR'S PRICE: \$34.841		
	OPTION 2 (ITEMS 1 THROUGH 8)			\$244,2	259.92		111.25 3 PRICE \$168,111		
AMEND	DMENT A	CKNOW	LEDGED:	YE	S	YES			
BID BO	ND SUB	MITTED		YE	S	YI	ES	_	